2005

2005

3

12 20

2005 2006
9 13
11 2005

1 2005
2005 2 14
10 30 L=10m W=2m_H=05m o
2005 3 8 5
10 40 L=20m W=lm_H=4m
2005 3 15 0
11 20 L=25m W=8m_H=2m
2005 3 16 -
10 15 L=10m W=lm H=im
2005 3 17 o
09 30 L=10m W=lm H=03m
2005 3 20 0
18 00 L=10m W=4m H=0.8m
2005 4 4 "
16 20 L=20m W=4m_H=1m

3
(T

150

10.0 i

50

0.0
-50

-10.0
-150 [

200

Waasd

Al 150

100
50

2004/11/1

2004/12/1

2004/12/31 2005/1/30 2005/3/1

0
2005/3/31 2005/4/30

6.0
4.0
20
0.0
-2.0

N

!

-10.0

3/12 3/13 3/14

0:00

0:00

0:00

3/15 3/16 3/17 3/18 3/19
0.00 0:00 0:.00 0:00 0:00

3/20 3/21
0:.00 0:00




2005

0.37

31

2006

100cm

19
100%

0.23

100cm

100

160

120

0

180 [

140 |

£100 |
80 |
60 |
40
20 |

-120 -100

-80 -60 -40 -20 00 20 40

180
—160
140

120
80
60
40

0

100 |

20 |

-120 -10.0

-80 -60 -40 -20 00 20 40

10.0

100cm
19
15m/s 11 m/s
10m/
] . —_-
20 T
| | |
gt .
=16 | ® H e
“ e em - T
| [ ]
12 P S T
10 * A
ol
. ‘
0 1 2 3 4 5 6
6.
100cm

1998 190



